6.00 Handout, Lecture 10
(Not intended to make sense outside of lecture)

numBuckets = 47 #this is ugly. We will see a better way soon

def create():
global numBuckets
hSet = []
for 1 i1n range(numBuckets):
hSet.append([1)
return hSet

def hashElem(e):
global numBuckets
return e%numBuckets

def insert(hSet, i1):
hSet[hashElem(i1)]-append(i)

def remove(hSet, i):
newBucket = []
for j in hSet[hashElem(i)]:
ifj = i:
newBucket.append(j)
hSet[hashElem(i)] = newBucket

def member(hSet, i1):
return 1 iIn hSet[hashElem(i)]

def hashElem(e):
global numBuckets
if type(e) == int:
val = e
if type(e) == str:
#Convert e to an iInt
val = 0
shift = 0
for c in e:
val = val + shift*ord(c)
shift += 1
return val%numBuckets

numBuckets = 47

def testl():
s = create()
for 1 in range(40):

insert(s, 1)

insert(s, 325)
insert(s, 325)
insert(s, 987654321)
print s
print member(s, 325)
remove(s, 325)
print member(s, 325)
print member(s, 987654321)

def test2():

d = create()
strs = ["ab", "ba", "32a-",
"big dog®, "small bird"]

for s in strs:

insert(d, s)
for 1 in range(40):

insert(d, 1)
print d
print member(d, “small bird")
print member(d, “big bird"®)
remove(d, “small bird")
print d




def readval(valType, requestMsg, errorMsg):
numTries = 0
while numTries < 4:
val = raw_input(requestMsg)
try:
val = valType(val)
return val
except ValueError:
print(errorMsg)
numTries += 1
raise TypeError("Num tries exceeded")

print readval(int, "Enter int: *, "Not an iInt.")

try:
readval(int, “Enter int: *, "Not an int.")
except TypeError, s:

print s
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